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2.#6 5 % F #| 159,830,000 162,635000( -2,805,000{ 47.5| 19,462,000(113,600,000/ 9,600,000] 4,926,000 1,221,000( 11,021,000
3. & I #| 24490,000[ 28,657,000 -4,167,000] 7.3] 19,500,000( 1,200,000 250,000] 2,174,000{ 1,219,000 147,000
¥4 %5 fE # ¥ E| 20660000 20,658,000 2,000( 6.2 20,660,000
5% fE & # %| 5,000,000 0/ 5000000 1.5 5,000,000
6.EM5E e 12,000,000 12,000,000 0] 3.6 2380,000] 8,000,000 1,260,000 360,000
I HERAEESE IS 500,000 10,000 490,000 0.1 500,000
LEVMESREIS 500,000 10,000 490,000 0.1 500,000
|9 3 g 350,000 350,000 0] 0.1 350,000
10. % & #| 5000000[ 10,000,000 -5,000,000/ 1.5 5,000,000
11. f& H ird - - - —|| 64,795,000 40,270,000
& i 336,420,000 491,530,000(-155,110,000{ 100.0 |{184,085,000( 151,830,000/ 10,390,000| 54,380,000 28,100,000 12,700,000




SH6EE —MEFNEZFES(R)
(RFI6EFE4R1H~SMIE3A318)
(R A DER) BNEE TS
B F ®# H SH6EE | SHSEE | iR & =
| 15 Y & R |METEEE B
1% & 47,730,000{ 47,730,000 0
145 5 47,650,000 47,650,000 0/19,0600
2BEESE 80,000 80,000 0/320
2R TEEIEXEEERS 2,310,000/ 2,310,000 0
188% 2,308,000/ 2,308,000 0|1,1544%
2BFEERIESE 2,000 2,000 o144
3Xft& 10,098,000/ 9,505,000 593,000
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4= FEIVA 53,317,000 41,574,000/ 11,743,000
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62 A% 40,270,000 40,000,000 270,000
[1HFEELEHEASL [ 40,270,000/ 40,000,000 270,000(4% A &5 KV
7iEHME 30,000,000 36,000,000/ —6,000,000
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1EXE 71,598,000 61,237,000/ 10,361,000
1—REXE 33,485,000] 33,515,000 -30,000| KFEE%E
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ALRETE 5,485,000] 5,485,000 0|/g T B2
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7B S5 EEE 490,000 355,000 135000| S E &%
8FLKYEXE 12,710,000] 14,628,000/ —1,918,000
QPE% =4 6,075,000] 7,993,000] -1,918,000|;F &% %
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QFEFY 4,686,000/ 3,410,000] 1,276,000
2iEFIELEE 5,353,000/ 4,820,000 533,000
3k & 1,500,000/ 1,500,000 0
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(BEEMRE 1,290,000/ 1,200,000 90,000| EEEF - ERHAK
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QEFERE 730,000 680,000 50,000|FE 75 H3EMm
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[ BB ESHETS 8,000,000/ 8,000,000 ol Rt~
=) it 151,830,000{ 152,000,000]  —170,000




SHEE BFTEERBEEREFEFISHINEZFTEE(R)
SH6F4R1B~SM7EIA3A)
(R A DER) B g T &SP
B T ® H SH6EE | SHSEE | &R & =
| ] Y & O |BMETEE ()
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2HEFEERHE 110,000,000{ 104,000,000 6,000,000
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Ch o danke 4,300,000| 4,300,000 0
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1EHEEINA 3,193,000/ 3,193,000 0
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1% 13,618,000 13,618,000 0
1KEREE 5,573,000/ 5,573,000 0
2hEEZEHRE 500,000 500,000 0
3FXRE 1,924,000( 1,924,000 0
AR ERSEF 1,320,000/ 1,320,000 0
S5Z{EH 329,000 329,000 0
o EFRF 972,000 972,000 0
THBEERE 569,000 569,000 0
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2 FE 7,042,000/ 7,040,000 2,000
15RH 853,000 853,000 0
2{E1EE 1,052,000( 1,050,000 2,000
3&RIEH 300,000 300,000 0
AEEEHAERE 550,000 550,000 0
5% fhithit 4,287,000/ 4,287,000 0
ITIEE 2,440,000] 3,642,000/ -1,202,000
14855 1,050,000f 2,087,000 -1,037,000
(ME #H 960,000/ 1,880,000/ —920,000
(QFEFH 90,000 207,000 -117,000
215FIELEE 171,000 334,000 -163,000
3EHE 606,000 608,000 -2.000
(BIEERE 85,000 85,000 0
QtH#ERE 521,000 523,000 -2,000
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2— R & 180,000 186,000 -6,000
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TH6EE

(FM6FE4B1H~SFI7E3A31H)

EFRPIEEEFEXRREREIEEIRERFNRFRIFEER

(URA D ER) BN T RS
B * # B SH6EE | FFSEE | LEEE i %
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1X%EE 0| 144,750,000| 144,750,000
IEE L5 & 0| 144,750,000| 144,750,000
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1655 0| 1,388,000 —1,388,000
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